x5

6 E2

BEL

FH

o

Ne|o

B=1TA%K

EEEM:

L BT, B S BC RS FES FYS B SEEEEEFR .

2. [ R , 1 1 A/ MEE R e, A B IA R XA B B SRR 5 3k
Ao TS, AR ERE TR, R EME RS . R IR R EREE
BERE. BEFRAE LT

3. FIRGH G ARG MEB R —IHE.,

L ARG ERZXNE B8 FHEBHAE AFX B S AR FE
[ & o

— EEE A S NE,BES L, 8 40 . EENMESHNEMETS, AE-EFS
& EHERE.
1. £ EAB=12,—2)5CD=(a,—6) % H, N a=

Al B.2 G —1 D.—2
2. BHES M={a€N|a12=9,xEZ} yTN={xEZ|ax*=9,aEN},N|

A MON={(1 B. N&M C.MNN=g D. MEN
3. FHlmaH, Eﬂi%ﬁﬁﬁﬂ‘ﬁ@lmﬁ PR

A, Jx€R,1+sin x<<0 B. B EE= A A NYIR

C. YzER, 2P +Hizzz—1 D FE—IEBE, CRREBOUR B
4. % a=log;82,6=log,15,c=0. 27, |

A b<a<c B. 6<<c<a Cagb<c [ <t<a
5.BH0 a,b ¥ REEL N’ =" R “a? +ab=20""1

A EEZRMG B bEATE ) KA

C. R A LEFHF D, BEAF WA BEFHF

6. FE A MO y(BALL: m) FEFIE] cCBAAT: o) R BBR R y=1'+37—1, Y =1, B}, K

TR BT EEA T 9 m/s% U £ 9T {E T Bl 2
A. <%,+oo> ,+o0)

1
2
C. 2% ; ,+00)

7. BH fGt DRIBER FO0)=0, FL% £>1 i, f() B AR R L2 <0 g

A (—5,0UCE,2) B, (—o0, =) U(2,+0)
1 1 1
C.(_ZQ__)U(_—yZ) D.(“_!O)U(Zy_l_oo)
2 2 2
. _— [B=%% F1R(KLIR)] o .24-12C-
b i E AR ik SR 22 528 AN M 5 R A R )



B, BB f(0)=cos(wr D) (>0 ERF(E, 55 FEARAE SN o WEUETERR

23 11 23 11

A. (E’fj B. [E’F)
23 11,113 43 23 11,113 43
Gl 35Ulg 13 D. 35-5 JULS 3]

=R AE® ONE, SNES 4, £ 205 ESNEAHNETD, SSRGS HEE
K. SEETT S 5 5, B ERHIE 2 4, HREHE 0 4
9. & PREL f(x)=sin 5z, N

A f(D) H’J%/J\EEJ%E%%
B. f(0) MR $3F A R 0) MR
C. f) i o ) BRI

D. f() B SR T HR 2= — {3k

10. EHE XAE R ERIRREL f(OWR f(ay)=f(2) f(3)— f(2)— f(3)+2, £(0)<2, f(0)#
fD,H f(x)>0,]

A. f(0)=1 B. f(—1)=2 C. f(—zx)=2f(x) D. f(—x)=f(x)
11 B8 16 MUK 2 M/NETR AL B R B AR , HEA/NETR R/ N MR 60°, B i
A.B,C,D 4G ¥ 422 TE M T, I

A.AD « BC=—20
B. ACHEAD LIRS AD

_ T 135
C.ﬁ—lz_BlezAC

D. AD#AC |y 8 m B 9 247
12. EHIERH y=a* 5 y=log.x WIES RH—38H, N a BBUEA fEH

1 1 1
A B. 75 C. et D.Je
SRTEAEE AME, BMNES 4,205 BEREEETERHEL L

T o g =
B.A S O=r T Do o R Me=__ A .

14.%a4+b4=7,ﬁa%+£‘z>m'fﬁﬁij,ﬂﬂmH@EX{E?EEI% A,

15, ERIE XAE R EF RS /() , g(O WS REEELE & f (g0 + () g (2)<10x, H
f@g2)— f(Dg(HNBELN f(DgD—f(Dg(HKTTRERENRKMES A .

16 B8 a,E (0,350, sinta+R) +/3coslat D+~ =—3, M p=__ A .

BERE F2W(#470)] +24-12C-
NI S B AELL Ml http://www. gaokzx. com/  FREUEE 22 /578 B5 vH S & 2R 1 24 2



5

w2

PEZR

R

m,
17,

18.

19.

BER. AT 6/NE, £ 705 BERSHXFRBAEREELEESR.

(10 4

L 2R 4 B 1T B BT R T3 WK T N R B 7 I B 7R K & L il B DAV , i 3R B LA L.
BAF AR KL, BIR B S BIKCE , EAE RS R BL B ) 200, i, /o
R T AR SRR AB SRR T 5HIK B AR —ACF E N MRS C,D L
i#%BCD=30°", / BDC=95",CD=116 m,fEs% D ALM7F s BT A P FY 457, 5K 3]
ST B 4 5 o 7 BEE (45 SRS 3 0. 1 m, B sin 55°=0. 82).

it

(12 4%
EHEE f(x)=a"+b KR S Q& BT 7R,
(D3R f BRI
(O¥ f(OWBESEAEERE 1 B KE 5 g @OMEZ,.K g0 « f(—)BRKE.
ty
0/1 %
/_2__1
(12 49

IR ERIAE— AN 7R B IE AR TR SEAR R BBUZ =R SE R BT R K Z A
60 cm.

(DRZ=BRHELARRKEAAK N x cm AEFRH V em® 5KV KT o KIREEREN;
()R ZE =R EARER B A (.

[B=%% #F3m(#£4M)] «24-12C -

HENIE RSB AEL M EE . http://www. gaokzx. com/  FREUHE £ 1575 B 70 M 25 Mt i B & 42 !



20. (12 43

B K% f(x)=sin’x—sin 2xsin %ﬂ

(1) R4 o i 2 tan 2a=‘—2—74,3k F(OBIE;

» 1 3
(DF FP=5pE (578K cos(2B—15) HIfE.

21. K12 45
BHRE f)=2"*—=1(a70).
(DF a=—1,3R f(E[—1,1] ERESE;
2)HERE y=f () —x RERNF R, K o FBETEHEL

22. (1241
B 1R f(1)=ln(1+x)+%2.

(DREZ y=r ()7 z=1 L VIELMFIE;
(2)Y4 x€ (0, +o0) B, LI f(2) 5 x KK/

2
(3)FEHEE g(x)=cos 1-1—%,_@, flet)=g(b)—1(a>>0,6>>0) ,iEBA: F(B*)+1>g(a+1).

[B=%¥ F4TH4T)) «24-12C -

NI S B AELL Ml http://www. gaokzx. com/  FREUEE 22 /528 B A S 2% 2R3k 1 i 255

|




